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Addition and Subtraction Balancing

Calculate the missing number in each equation.

- 56 = 127 + 15

168 + 23 = - 21
204 - = 149 + 36
152 + 39 = 239 -

293 - 27 = + 212

+ 29 = 281 - 36

392 - 58 = 41 +

75 + 389 - 82
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Addition and Subtraction Balancing
Answers

198/- 56 = 127 + 15

168 + 23 = (212 - 21
204 - 119 = 149 + 36
152 + 39 = 239 - |48
293 - 27 = |54+ 212
216+ 29 = 281 - 36
392 - 58 = 41 +|293
75 +(232| = 389 - 82
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Addition and Subtraction Balancing

- 56 = 127+ 15

168 + 23

204-[ |

152 + 39

293 - 27

[ ]+ 20

392 - 58

7+ |




